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Root solver to find water depth around the Bellamya

gy) = 40000y3 - 2149000y2 + 29340000-y — 102700000 (units of meters)
First guess: y:= 35

h := root(g(y),y) h=34.74
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Root solver to find the depth of the flow at the bottom of the spillway.
g(y) =y — 5013y> + 03189  First guess: y:==6 (units of feet)
h = root(g(y),y) h= 5.0002

The first guess yields the original subcritical depth of 5 meters.
Second guess: y:=1

h = root{g(y),y) h = 02591

The second guess yields the alternate depth of 0.259 meters. This is the
yﬁfcritical flow depth - the depth that occurs at the bottom of the spillway.
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